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Problem quickname: 8565

1)
Quick:
8565

Calculate the result.

a) 100 · 971.5 = 97150 b) 564.4 · 100 = 56440 c) 473.2 · 10 = 4732
d) 10 · 794.5 = 7945 e) 547.9 · 100 = 54790 f) 10 · 367.1 = 3671
g) 10 · 736.7 = 7367 h) 100 · 517.1 = 51710 i) 827.5 · 100 = 82750
j) 10 · 710.1 = 7101
2)

Quick:
8565

Calculate the result.

a) 100 · 0.3 = 30 b) 0.9 · 100 = 90 c) 0.8 · 100 = 80
d) 100 · 0.5 = 50 e) 0.1 · 100 = 10 f) 0.1 · 1000 = 100
g) 0.2 · 100 = 20 h) 0.6 · 1000 = 600 i) 0.2 · 1000 = 200
j) 0.4 · 10 = 4
3)

Quick:
8565

Calculate the result.

a) 0.065 · 100 = 6.5 b) 0.073 · 100 = 7.3 c) 0.012 · 100 = 1.2
d) 0.083 · 10 = 0.83 e) 0.087 · 10 = 0.87 f) 0.037 · 1000 = 37
g) 0.042 · 100 = 4.2 h) 0.039 · 10 = 0.39 i) 0.052 · 100 = 5.2
j) 0.046 · 100 = 4.6
4)

Quick:
8565

Calculate the result.

a) 10000 · 4.77 = 47699.99999999999 b) 1000 · 6.16 = 6160
c) 2.43 · 100 = 243 d) 10000 · 2.85 = 28500 e) 7.78 · 100 = 778
f) 1000 · 2.73 = 2730 g) 1.92 · 100 = 192 h) 100 · 8.99 = 899
i) 10.24 · 10000 = 102400 j) 2.25 · 1000 = 2250

Good Luck!
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